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ABSTRACT:

The power wasted by the sley mechanism of the wgawachine
Is considered the biggest. This is due to the largight of the sley when
compared with the little technological processesopmed by the sley.

The aim of this study is to get use of some of iasted power and to



convert it into a useful power to operate otherigapents. A special
instrument was designed and made in this studetfmpn this job.
This instrument used some of the wasted powehdobenefit of
the worker, the machine and the environment.
This instrument used 20% of the wasted power.
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